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NEW QUESTION 1

Search dashboards in the Monitoring Console indicate that the distributed deployment is approaching its capacity. Which of the following options will provide the

most search performance improvement?

A. Replace the indexer storage to solid state drives (SSD).

B. Add more search heads and redistribute users based on the search type.

C. Look for slow searches and reschedule them to run during an off-peak time.

D. Add more search peers and make sure forwarders distribute data evenly across all indexers.

Answer: C

NEW QUESTION 2

A Splunk architect has inherited the Splunk deployment at Buttercup Games and end users are complaining that the events are inconsistently formatted for a web
sourcetype. Further investigation reveals that not all web logs flow through the same infrastructure: some of the data goes through heavy forwarders and some of

the forwarders are managed by another department. Which of the following items might be the cause for this issue?

A. The search head may have different configurations than the indexers.

B. The data inputs are not properly configured across all the forwarders.

C. The indexers may have different configurations than the heavy forwarders.

D. The forwarders managed by the other department are an older version than the rest.

Answer: D

NEW QUESTION 3
What does the deployer do in a Search Head Cluster (SHC)? (Select all that apply.)

A. Distributes apps to SHC members.

B. Bootstraps a clean Splunk install for a SHC.

C. Distributes non-search related and manual configuration file changes.

D. Distributes runtime knowledge object changes made by users across the SHC.

Answer: A

NEW QUESTION 4
A multi-site indexer cluster can be configured using which of the following? (Select all that apply.)

A. Via Splunk Web.

B. Directly edit SPLUNK_HOME/etc/system/local/server.conf
C. Run a splunk edit cluster-config command from the CLI.

D. Directly edit SPLUNK_HOME/etc/system/default/server.conf

Answer: AB

NEW QUESTION 5
Which of the following is true regarding Splunk Enterprise performance? (Select all that apply.)

A. Adding search peers increases the maximum size of search results.

B. Adding RAM to an existing search heads provides additional search capacity.

C. Adding search peers increases the search throughput as search load increases.

D. Adding search heads provides additional CPU cores to run more concurrent searches.

Answer: BD

NEW QUESTION 6
Which component in the splunkd.log will log information related to bad event breaking?

A. Audittrail

B. EventBreaking

C. IndexingPipeline

D. AggregatorMiningProcessor

Answer: D

NEW QUESTION 7

Which Splunk server role regulates the functioning of
indexer cluster?

A. Indexer

B. Deployer

C. Master Node

D. Monitoring Console

Answer: C
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NEW QUESTION 8
Indexing is slow and real-time search results are delayed in a Splunk environment with two indexers and one search head. There is ample CPU and memory
available on the indexers. Which of the following is most likely to improve indexing performance?

A. Increase the maximum number of hot buckets in indexes.conf

B. Increase the number of parallel ingestion pipelines in server.conf

C. Decrease the maximum size of the search pipelines in limits.conf

D. Decrease the maximum concurrent scheduled searches in limits.conf

Answer: D

NEW QUESTION 9
The frequency in which a deployment client contacts the deployment server is controlled by what?

A. polling_interval attribute in outputs.conf

B. phoneHomelntervallnSecs attribute in outputs.conf

C. polling_interval attribute in deploymentclient.conf

D. phoneHomelntervallnSecs attribute in deploymentclient.conf

Answer: D

NEW QUESTION 10
Before users can use a KV store, an admin must create a collection. Where is a collection is defined?

A. kvstore.conf

B. collection.conf

C. collections.conf
D. kvcollections.conf

Answer: C

NEW QUESTION 10
Which search will show all deployment client messages from the client (UF)?

A. index=_audit component=DC* host=<ds> | stats count by message
B. index=_audit component=DC* host=<uf> | stats count by message
C. index=_internal component= DC* host=<uf> | stats count by message
D. index=_internal component=DS* host=<ds> | stats count by message

Answer: D

NEW QUESTION 12

When Splunk indexes data in a non clustered environment, what kind of files does it create by default?
A. Index and .tsidx files.

B. Rawdata and index files.

C. Compressed and .tsidx files.

D. Compressed and meta data files.

Answer: B

NEW QUESTION 14

In search head clustering, which of the following methods can you use to transfer captaincy to a different member? (Select all that apply.)
A. Use the Monitoring Console.

B. Use the Search Head Clustering settings menu from Splunk Web on any member.

C. Run the splunk transfer shcluster-captain command from the current captain.

D. Run the splunk transfer shcluster-captain command from the member you would like to become the captain.
Answer: BD

NEW QUESTION 17

Which of the following describe migration from single-site to multisite index replication?

A. A master node is required at each site.

B. Multisite policies apply to new data only.

C. Single-site buckets instantly receive the multisite policies.

D. Multisite total values should not exceed any single-site factors.

Answer: D

NEW QUESTION 20

Which of the following statements describe licensing in a clustered Splunk deployment? (Select all that apply.)

A. Free licenses do not support clustering.
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B. Replicated data does not count against licensing.
C. Each cluster member requires its own clustering license.
D. Cluster members must share the same license pool and license master.

Answer: BD

NEW QUESTION 21
When should multiple search pipelines be enabled?

A. Only if disk IOPS is at 800 or better.

B. Only if there are fewer than twelve concurrent users.

C. Only if running Splunk Enterprise version 6.6 or later.

D. Only if CPU and memory resources are significantly under-utilized.

Answer: D

NEW QUESTION 22
When converting from a single-site to a multi-site cluster, what happens to existing single-site clustered buckets?

A. They will continue to replicate within the origin site and age out based on existing policies.

B. They will maintain replication as required according to the single-site policies, but never age out.

C. They will be replicated across all peers in the multi-site cluster and age out based on existing policies.

D. They will stop replicating within the single-site and remain on the indexer they reside on and age out according to existing policies.

Answer: B

NEW QUESTION 23
What is the algorithm used to determine captaincy in a Splunk search head cluster?

A. Raft distributed consensus.

B. Rapt distributed consensus.

C. Rift distributed consensus.

D. Round-robin distribution consensus.

Answer: A

NEW QUESTION 28
As a best practice, where should the internal licensing logs be stored?

A. Indexing layer.
B. License server.
C. Deployment layer.
D. Search head layer.

Answer: D

NEW QUESTION 33
What is the default log size for Splunk internal logs?

A. 10MB
B. 20 MB
C. 25MB
D. 30MB

Answer: C

NEW QUESTION 36

What is the logical first step when starting a deployment plan?

A. Inventory the currently deployed logging infrastructure.

B. Determine what apps and use cases will be implemented.

C. Gather statistics on the expected adoption of Splunk for sizing.

D. Collect the initial requirements for the deployment from all stakeholders.
Answer: D

NEW QUESTION 41

Which of the following statements describe search head clustering? (Select all that apply.)
A. A deployer is required.

B. At least three search heads are needed.

C. Search heads must meet the high-performance reference server requirements.

D. The deployer must have sufficient CPU and network resources to process service requests and push configurations.

Answer: AC
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NEW QUESTION 43

Passing Certification Exams Made Easy visit - https://www.surepassexam.com



\!/ Exam Recommend!! Get the Full SPLK-2002 dumps in VCE and PDF From SurePassExam
LI Sure PaSS https://www.surepassexam.com/SPLK-2002-exam-dumps.html (90 New Questions)

Thank You for Trying Our Product

We offer two products:

1st - We have Practice Tests Software with Actual Exam Questions

2nd - Questons and Answersin PDF Format

SPL K-2002 Pr actice Exam Features:

* SPLK-2002 Questions and Answers Updated Fregquently
* SPLK-2002 Practice Questions Verified by Expert Senior Certified Staff
* SPLK-2002 Most Redlistic Questions that Guarantee you a Pass on Y our FirstTry

* SPLK-2002 Practice Test Questions in Multiple Choice Formats and Updatesfor 1 Y ear

100% Actual & Verified — Instant Download, Please Click
Order The SPLK-2002 Practice Test Here

Passing Certification Exams Made Easy visit - https://www.surepassexam.com


https://www.surepassexam.com/SPLK-2002-exam-dumps.html
http://www.tcpdf.org

